
46” Stackable 3-Bin 
Storage Cubby

Model / Modèle # USM-0003-1
Assembly Instructions
Instructions de montage

Option de service en ligne
Complétez le formulaire Commande de Pièces de Rechange 
disponible dans la section Soutien à la clientèle de notre site 
web : www.prepacmfg.com 

Pour parler avec quelqu’un en français, s’il vous plaît 
contacter votre détaillant. 

Using a power screwdriver will 
speed up assembly. 

Caution
Do not over tighten any screw. 
The last few turns of each 
screw should be done very 
slowly or by hand.

Required Tools / Outils requis

L’utlisation d’un tournevis 
électrique permettra 
d’accélérer l’assemblage

Attention : 
Évitez de trop serrer les vis. 
Ralentissez la vitesse de la 
foreuse pour les derniers 
deux tours de vis ou vissez-
les lentement à la main.

CONTACT US FIRST
parts@prepacmfg.com
1-877-PREPAC1 (1-877-773-7221)

Mon - Fri	 7am - 4pm PST 
(10am - 7pm EST)

For help with assembly
If you have received a damaged or  
defective part or are missing hardware. 

We will process replacement parts in two 
business days or less. Parts are shipped via 
UPS Ground or mail.

Before you call please:

1) Record the following information from
the shipping label on the outside of
the box.  You will need it for warranty
purposes:

Ship To Name
Sales Order Number

2) Note the product model number.

3) Review the contents of your shipment
to determine what you are missing.

•
•

Online Option
Fill out the Replacement Parts Order form in the Product 
Support section of our website: www.prepacmfg.com

D
A

TE
 S

TA
M

P

Prepac Manufacturing Ltd. 
LB-0750
2015-04-17



Page 2 of 12

C3

C1

C4

C2

C6

C8

C7

C5

C4

Top (1)
Panneau supérieur 

TP-10066-E espresso
TP-10066-W white / blanc

Top Molding (1)
Moulure supérieure

TR-10049-E espresso
TR-10049-W white / blanc

Left Side (1)
Côté gauche

SL-10067-E espresso
SL-10067-W white / blanc

Center Gable (2)
Panneau séparateur extérieur

GA-10068-E espresso
GA-10068-W white / blanc

Right Side (1)
Côté droit

SR-10067-E espresso
SR-10067-W white / blanc

Bottom (1)
Bas 

BT-10046-E  espresso
BT-10046-W  white / blanc

Front Panel (1) 
Panneau devant

ST-10075-E espresso
ST-10075-W white / blanc

Back Panel
Panneau arrière

BB-10049-E espresso
BB-10049-W white / blanc

C3C1 C4C2

C6C5 C7 C8

TP-10066-D 
drifted gray / gris vieilli

TR-10049-D 
drifted gray / gris vieilli

SL-10067-D 
drifted gray / gris vieilli

GA-10068-D 
drifted gray / gris vieilli

SR-10067-D 
drifted gray / gris vieilli

BT-10046-D 
drifted gray / gris vieilli

ST-10075-D 
drifted gray / gris vieilli

BB-10049-D 
drifted gray / gris vieilli



Page 3 of 12

Insert cams in the unlocked 
position, with the opening 
facing toward the hole for the 
twister dowel.

Insérez les cames dans 
la position déverrouillée, 
l’ouverture faisant face au 
trou du goujon à visser. 

1

Zinc Cam  (16)
Came en zinc 

RM-0103

Blue Rapid Rod (16)
Tige rapide bleu

RM-0583

Metal Dowel Pins (2)
Goujons de bois

RM-0014

14mm Cap (2)
Capuchon

RM-0929-E espresso
RM-0929-W white

Plastic Dowel (4)
Goujon en plastique

RM-0072

2” Confirmat Screw (4)
Vis Confirmat

RM-0001

¾” Nail (24)
Clou ¾”

RM-0022

Hardware / Quincaillerie

Mounting Base (2)
Base de support

RM-0458

#6 - ¾ Pan Head Screw (1)
Vis #6-¾ po.

RM-0460

Cable Tie (1)
Serre-câble
RM-0459

HP-0608

x8

x4

C3

C5

HP-1027-E / HP-1027-W

RM-0929-D drifted gray



Page � of 12

2

3

x8 C6

C7

C7

C3

Finished Edge
Côté fini

Tightening Cams 
Pour serrer les cames

Unlocked Locked
Turn 210°

Déverrouillées Verrouiller en tournant 
210 degrés vers la  droite



Page � of 12

4 5

C6

C3

C5

C6

Finished Edge
Côté fini



Page � of 12

6
x4

C4

C4



Page � of 12

7

x4

Finished Edge
Côté fini

Finished Edge
Côté fini



Page � of 12

8

9

x8

x4

C2

C1



Page � of 12

10

11

C2
C1

C1

FRONT
DEVANT



Page 10 of 12

12

C8x24

13 OPTIONAL
Facultatif

If you are stacking multiple cubbies, 
do this after Step 15

Si vous empilez plusieurs cubbies, 
faites-le après l’étape 15

1”1”

1”

1”

1”

1”

1”

1”



Page 11 of 12

1”

14a 14b

Attaching the Cable Tie
We strongly recommend using a cable tie on all 
furniture, especially if small children have access.

Attacher et Utilisation de l’Attache de Câble
Nous recommandon utilisant fortement une attache 
de câble sur tous les meubles, surtout si les petits 
enfants ont accès.

1½”

2”

1”

Wall Stud
Goujon de mur

#6 - ¾” Screw  
Vis #6-¾ po.

14c

Important:  Find a wall stud and 
attach the mounting base with a 
1½” screw (not included). If you 
cannot locate a stud, use an ap-
proved wall mounting system.

Important:  Trouver un clou de 
mur et attacher la base montant 
avec un 1½ po. vis (n’a pas inclus). 
Si vous ne pouvez pas localiser un 
clou, utilisez un système fixé au 
mur approuvé

1”
1”

14



Page 12 of 12

x2

OPTIONAL
Facultatif15

16 IMPORTANT:  If you have more 
than one Cubby stacked, use 
BOTH cable ties on the top 
Cubby

IMPORTANT: Si vous avez plus 
d’un “Cubby”  empilés, utilisez 
les deux attaches de câble sur 
le haut “Cubby”

x2




